
MA322-007 Mar 3 Quiz Name:

HW#4. Is the following a subspace? Show the subspace check.
W = {(x, y) : 3x+ 2y = 5} ⊆ R2

HW#4’ Is the following a subspace? Show the subspace check.
W = {(x, y) : 3x+ 2y = 0} ⊆ R2

HW#5 Is the following a subspace? Show the subspace check.
W = {t 7→ at2 : a ∈ R} ⊆ RR

HW#6 Is the following a subspace? Show the subspace check.
W = {t 7→ t2 + a : a ∈ R} ⊆ RR



HW#13 Let v⃗1 =
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.
(a) How many vectors are in {v⃗1, v⃗2, v⃗3}? Is w⃗ ∈ {v⃗1, v⃗2, v⃗3}?

(b) How many vectors are in Span({v⃗1, v⃗2, v⃗3})? Is w⃗ ∈ Span({v⃗1, v⃗2, v⃗3})?

4.2 Write the null space of A =

[
1 2 0
0 0 1

]
as the span of the columns of a matrix N .


